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Time : 4Hrs. Sem. IV -E
E.E. Drwg
Full Marks : 80

Pass Marks : 26
Answer all 20 questions from Group A, each question
carries 1 marks.

Zu-A G |t 20 9¥ & SR <, TAD 9 BT HA 13D 2 |
Answer One questions from Group B, question
carries 20 marks.

Yu-B A U U3 &1 IR <, 9 P14 2035 2 |
Answer One questions from Group C, question

carries 40 marks.
Ju-C ¥ & ¥ &I SR <, U &1 91 40 35 2 |
All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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Answer the following Questions.

fer=fearRaa goAt &1 SR <

3.

40x1=40

A D.C generator has 4-poles, 20 slots and each
slot has two coil sides in the armature. The
winding of the armature to lap.

Draw the following with the help of neat diagram :

(a) Developed diagram of lap winding -25
(b) Equivalent ring diagram - 05
(c) Position of brushes - 05

For neatness - 05

TP dR ga ard fase garr siFfE @ smi=R
H 20 Gid 8 UAD H I HUSAl WSS H 2|
s od & dl F=fafaa o1 W@es IRa
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(31) oy Hsad &1 fAsfaa sIRa — 25

@) g R aRa — 05

(|) g2 @ Refa — 05

¥goodl & feu — 05
OR(372r1aT)

(a) Draw the steel tower of double circuit

for 132 kv transmission lines. — 20
(b) Draw the free hand sketch of pipe
earthing. — 20
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fear wan gIgw Wda ———
<geriar @ -

@) at®

(@) foi®

(|) g

(2) 399 & ®Ig A |

The given symbol I@I represents

(a) Horn or Hooter
(b) Microphone
(c) Loud speaker
(d) None of these

fear T Sodq |®] <oriar 8 -

(e1) B+ a1 ge®

(d) ATEHIBIA

(|) arssHiar

(®) 39 & @I AT |

The Insulation resistance of a conductor
is measured with ....................

(a) Tachometer

(b) Ohm meter

(c) Watt meter

(d) Meggar
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GROUPB

Answer the following Questions.
fr=ferRaa ue &1 S @ 20x1=20

2. Figure -1 shows the isometric view of pole of a
D.C machine. Draw the orthographic projections.
Indicate the appropriate dimensions also.

20

6-8¢RIVET
116 LONG

All Dimensions are in mm

04026

(vi)

(vii)

(vii)

(viii)

5 20404
fear T ST God _ goriar

T

(@) Re

@) = 9

(@) i+ wfec
(%) s 4 ®Ig 2N |

The given drawing symbol —@—
represents :

(a) Crossed wire
(b) Overhead wire
(c) Joint

(d) None of these

fear T SIS God —O— <@iar
B

(31) wivs dR

@) TR aR

(&) Sirs

(?) 379 A IS TN

The given electrical symbol

represents :

(a) Two pin shocket

(b) Two pin ceiling rose
(c) Relay

(d) None of these
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The given drawing symbol Iﬁ
represents.

(a) General antenna
(b) Dipole antenna
(c) Loop antenna
(d) None of these

fear T g1 Gad ﬁ R S

(31 "= ¢
(@) s13Ura ¢
(9) qu g

(?) 379 94 BIg 12N

The given drawing symbols 77777é7777-

represents

(a) Earthling

(b) Fault

(c) Fault place
(d) None of these
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The given electronic symbol 2_@
represent : £

(a) PNP Transistor
(b) NPN Transistor
(c) Vacuum Tube
(d) None of these

fear T soaeife Gaa ‘;@
geriar é — E

(31 bt g dr giforex
(@) T W1 g gifoiex
(o) dagw <y

(@) T A @15 T |

Number of parallel paths in Lap winding is
equal to :

(a) One

(b) Two

(c) Number of poles

(d) None of the above
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